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Q1. Select the correct one


1. The aperture controlling the amount of light entering in the eye is called

a. Pupil

b. Cornea

c. Lens

d. Ciliary muscles

2. How many types of cone code for colour in fovea of retina
a. 2
b. 3
c. 4
d. 5
3. Myopia can be corrected by  

a. Biconcave Lens

b. Biconvex Lens
c. Both of the above
d. None of the above
4. Which of the following is responsible for vision in dark light
a. 11cis retinal 

b. 11 trans retinal
c. Both of the above  
d. None of the above

5. The audible range of sounds extends from. 
a. 2000 to 20,000 hertz 
b. 100 to 20,000 hertz 
c. 20 to 20,000 hertz 
d. 1000 to 20,000 hertz 

6. Which of the following muscles are present in middle ear reduces the intensity of sound reaching the cochlea on contraction
a. Tensor tympani 
b. Stapedius
c. Ciliary muscles
d. All of the above
7. Which part of ear is responsible  for body balance
a. Organ of corti
b. Cochlea
c. Vestibular complex
d. None of the above
Q2.Answer the following

i. What is astigmatism?
ii. Which cells in the eye process the neural signal and generate action potential to transmit to brain?.
iii. Night blindness is due to deficiency of …………………….
iv. What is binocular vision?
v. The intensity of sound is measured in………………….

vi. Name the smallest bone in the body.

vii. On the decibel scale, the range of human hearing extends from ………….dB
viii. Oval window connects……………………….. with………………..

ix. Define: Pitch and Loudness

x. Write down the function of following parts of ear: 

a. Tympanic Membrane
b. Eustachian Tube
c. Organ of Corti
d. Cochlea
e. Sterocilia
Q3.  Write short notes on

i. Photochemical activity of rods
ii. Myopia and Hypermetropia
iii. Physiology of hearing
